Challomae EProblem Set 2
8 (/\)avawa Q“Jad’“kge)

@ A f"°b“’+“"" s Lounched &rom gvo'qu Lvel ot a speed of
Vo Ond an amgh 0 above tue horizontal. Consider the
specific womeunt whae 15 instantoneous  velooky walkes an
O.VIéLL ol bedoww herizontal.

) Find the *time doken 4o that fotv\{ fiom the  Loumnch -
(o) Pind horizontal and  verfical disfuu,mfs.

(€) Dedwe e reswlts for  ports (0) ke(p) when o= § .

@) Commamt on fle vesulds ot 1w powt (d).

@ A ﬂ;fo)ectﬁu is Lauwched ak 56’“’"‘ Vo with an ansle
& above lhorigontal fowel A ball (s thvown  stiaight up
at e Same tivmve i VcUo“DV at & UAocedion 9o Maa from
twe projectile lawnch. Assume Lo is within e vomge of the
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Find V' 50 tmat te tuo oljects il ollde widar.

@ Vo fs  showw v the 'J\A‘Svam o Pco)t&‘h’h. wnst be
Lemnched  that it wilt Wik @ wouing car . Ve hewe
Condvol over O bubt Vp, i¢ pud-chxmtv\eb At e
z%__ [U__;—’ time of ‘,.rojechl—c. (t=2), the cor s a hortrontal
S disdance %o awono fromn the Launch. Cor starts
£com  vest oand  accelovotes  uniform at awn

accelevokion of 0). Assume that vp o subbicleatdy
LM&L that  the f'mju—“u cam  indeed Wi fue cor

for Ha givem ‘Ud & Q0 . Find tae cegquivel &



®

@M Two point  masses eech  wifn  mmass
: ‘M’ ore  connected with g cope witl,
— .U.uath ‘L whiem aoes Wwow&k a

&
: hole of a horivewntal PL&M¢. as shown,
f PLane 1S frickionless, RAs  shown et ofe
meoq-w:v\a_ c,'\foM motion withh aqwal
&qmam\-ia!. .g‘n.e.J i
(@) Find an expression for fhe  Lengtn o fae :e;mmt of tuae vope
ow fue heritontal plang in terms of B owd § .
(b) Show the omswer obtained for gort (2) (s dimembiovolly consistant.

Teo blecdhs itllh wmasses wm, & m, owe

SE
% connected wifk a :H{mg_ ot goes orowm,
= (L Pm’.’.‘o 0t showw . A: morked static
@ “(iah‘.on 090"&0{0“{- is fA; Fot bofln,
}M/" Sides.

©®) Shows fuat  for e sptemn o e i eniLbrium  without ovny
assistance  from frnction, dandl = M/, st be satisfied.

G) New Consider dwe  case  danol > Wi/, get & is small emeugh
thad e .sas«&em is v equilibvivm.  For e 6ivw\ wm,,m, & ng
find wmoaximum  possible A (dmux) sach  thet  te systom  eowld
ewmain . equ i bvium,

vesults of pork Cb) dedwe am ovpression  for  Qpin

) From flae
%N :.q)m‘u'adv«m.

suchh  thal  fua anl'OM would  vemain

hinls = & Whem o s dno-v\éal, q0° ams.u. at e vt-c i§ maintained o

be constomt
tanf = 88/ o 3 tan(10°-8) = Cot®
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